ol

6&Fs

MANAGED L2/L3 ROUTING SWITCHES
MANAGED L2/L3 ROUTING SWITCHES

COMMUTATEURS DE ROUTAGE L2/L3 GERES
IAR—T RL2/L3RA v F

Quick Start Guide
Quick Start Anleitung
Guide de Démarrage Rapide

S4 v RE— AR


https://manuals.plus/m/8371cd3111a05312f8e9245220b08a1741e86f77275d1277a8c35e2b28ef0dd0

Introduction

Thank you for choosing the Managed L2/L3 Routing Switches. This guide is designed to
familiarize you with the layout of the switches and describes how to deploy them in your
network.

S5850-2452Q/S5850-24S2Q-PE

Accessories

Power Cord x2 Console Cable x1 Network Cable x1

Grounding Cable x1 Rubber Pad x4 M4 Screw x8
lo
O
= o g
Mounting Bracket x2 Spring Clip x2 M6 Screw x4

5

M6 Cage Nut x4

EN



EN

@ NOTE: This power cord cannot be used with other devices, and other power
cords should not be used with this device.

Hardware Overview

Front Panel Ports

CON SFP+ QSFP+
.
I 1 |
ISR RRRRRRRRRRRRR el Ce e e e oo e e oo oo s essssiceseire
6Fs
.
!

|
ETH USB

[__Porta _|Descripion |

SFP+
QSFP+

CON

ETH

USB

SFP+ ports for 1/10G transceivers

QSFP+ ports for 40G or 4x 10G connection
An RJ45 console port for serial management
An Ethernet management port

A USB management port for software and configuration backup
and offline software upgrade



Front Panel LEDs

ID

SYS

ETH

SFP+

QSFP+

Breakout

Blue

Off

Green

Amber

Off

Green
Blinking Green
Off

Green
Blinking Green
Amber
Blinking Amber
Off

Green

Blinking Green

Amber
Blinking Amber
Off

Loop Blinking
Off

40G Breakout LED

ID indication function enable.

ID indication function disable.

The system is normally running.

The system occurs alarm or error.

No power or no system runs or runs abnormally.

Port is linked.

Port is receiving or transmitting packets.

Port is not linked.

10G port is linked.

The SFP+ port is transmitting or receiving packets at 10G.
1G port is linked.

The SFP+ port is transmitting or receiving packets at 1G.
Port is not linked.

40G port is linked.

The QSFP+ port is transmitting or receiving packets at
40G.

The portis in breakout mode.

The breakout port is transmitting or receiving packets.
Port is not linked.

One or more 40G ports are in breakout mode.

None of the 40G ports is in breakout mode.

EN



EN

Back Panel

Grounding Point
|

T

® @

e e s

T T
3 Fixed Fans 2 Hot-swappable Power Supplies

Installation Requirements

Before you begin the installation, make sure that you have the
following:

® Phillips screwdriver.

e M6 Screws.

e Standard-sized, 19" wide rack with a minimum of 1U height available.

e Category 5e or higher RJ-45 Ethernet cables for connecting the network devices.

Site Environment:

e Do notoperate it in an area that exceeds an ambient temperature of 45°C.

e The installation site must be well ventilated. Ensure that there is adequate air flow
around the switch.

® Be sure that the switch is level and stable to avoid any hazardous conditions.
® Do notinstall the equipment in a dusty environment.

e The installation site must be free from leaking or dripping water, heavy dew, and
humidity.

e Ensure rack and working platforms are well earthed.



Mounting the Switch

Desk Mounting

4 N

\_ J

1. Attach four rubber pads to the bottom.
2. Place the chassis on a desk.

Rack Mounting

v

1. Secure the mounting brackets to the two sides of the switch with eight M4 screws.

EN



EN

2. Attach the switch to the rack using four M6 screws and cage nuts.

Grounding the Switch

-

1. Connect one end of the grounding cable to a proper earth ground, such as the rack in

which the switch is mounted.
2. Secure the grounding lug to the grounding point on the switch back panel with the

washer and screws.

/_\ CAUTION: The earth connection must not be removed unless all supply
connections have been disconnected.



Connecting the SFP+ Ports

.

First install SFP+ transceivers and then connect fiber optic cabling to the transceiver ports,
or directly connect DAC cables to the SFP+ slots.

/: CAUTION: Laser beams will cause eye damage. Do not look into bores of optical
modules or optical fibers without eye protection.

Connecting the QSFP+ Ports

N

First install QSFP+ transceivers and then connect fiber optic cabling to the transceiver
ports, or connect DAC cables to the QSFP+ slots.

EN



Connecting the Management Ports

Connecting the Console Port

1. Insert the RJ45 connector of the console cable into the RJ45 console port on the front of

the switch.
2. Connect the other end of the console cable to the RS-232 serial port on the computer.

Connecting the ETH Port

-

\_

1. Connect one end of a standard RJ45 Ethernet cable to a computer.
2. Connect the other end of the cable to the ETH port on the front of the switch.

8



Connecting the USB Port

Insert the Universal Serial Bus (USB) flash disk to the USB port for software and
configuration backup and offline software upgrade.

Connecting the Power

1. Plug the AC power cord into the power port on the back of the switch.
2. Connect the other end of the power cord to an AC power source.

WARNING: Do not install power cables while the power is on.

EN



EN

Configuring the Switch

Configuring the Switch Using the Web-based Interface

Step1: Connect the computer to the Management port of the switch using the network
cable.

Step 2: Set the IP address of the computer to 192.168.1.x. ("x" is any number from 2 to 254.).
Set the subnet mask of the computer to 255.255.255.0.

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

@ Use the g IP address:
IP address: 192 .168. 1 . 2
Subnet mask: 255 .255 .256 . 0

QO Obtain DNS server address automatically
—@ Use the following DNS server

Prefrred ONS sener: ]

Alternate DNS server:

[] validate settings upon exit
=

Step 3: Open a browser, type http://192.168.1.1, and enter the default username and
password, admin/admin.
Step 4: Click sign in to display the web-based configuration page.



Configuring the Switch Using the Console Port

Step 1: Connect a computer to the switch's console port using the supplied console cable.

Step 2: Start the terminal simulation software such as HyperTerminal on the computer.
Step 3: Set the parameters of the HyperTerminal: 115200 bits per second, 8 data bits, no
parity, 1 stop bit and no flow control.

Quick Connect X

Port: Com3 v Flow Control
[]DTR/DSR
Baud rate: 115200 v

[JRTs/CTS
Data bits: ] XON/XOFF

Name of pipe: l

[[]Show quick connect on startup Save session
Openinatab

Connect Cancel

Step 4: Enter the default username and password, admin/admin.

EN



EN

Troubleshooting

Loading Failure Troubleshooting

After loading fails, the system will keep running in the original version. At this time, users
should re-check if physical port connections are good firstly. If some ports are not
connected, then re-connect them to ensure that physical connections are correct, and
begin re-loading. If physical connections are correct, then check the loading process
information displayed on the super terminal to verify if there are input errors. If there are
input errors, correct them and re-load.

User Password Lost Troubleshooting

If system password is lost or forgotten, the following method can be used to reset the
password:

1. Connect the console port of the switch to the computer through the console cable.
2. Press ctrl + b to enter the Uboot mode.

3. Start the system with an empty configuration file with no password.
Bootrom#boot_flash_nopass

Bootrom#Do you want to revert to the default config file?[Y|N|E]:

@ NOTE: Forgetting your username and password and restoring them through
console port may cause configuration loss and business interruption. Please
remember your username and password.

Configuration System Troubleshooting

1. Make sure the power supply is normal and the console cable is properly connected.
2. Check if the console cable is the right type.

3. Check if the control cable driver is properly installed on the computer.

4. Ensure the parameters of the HyperTerminal are correct.



Product Warranty

FS ensures our customers that for any damage or faulty items due to our workmanship, we
will offer a free return within 30 days from the day you receive your goods. This excludes
any custom-made items or tailored solutions.

Warranty: The products enjoy a 5-year limited warranty against defects in
materials or workmanship. For more details about the warranty, please check at
https://www.fs.com/policies/warranty.html

found at

@ Return: If you want to return the item(s), information on how to return can be
https://www.fs.com/policies/day_return_policy.html

Online Resource

For additional technical documents, visit:
https://www.fs.comtechnical_documents.htmi

Scan the QR code to download and install the FS app from the App
Store or Google Play Store or go to
https://www.fs.com/appdownload.html

£ Download on the [ciagigel]
@& App Store Google Play

13

EN



DE

Einflihrung

Vielen Dank, dass Sie sich fir die Managed L2/L3 Routing Switches entschieden haben.
Diese Anleitung soll Sie mit dem Layout der Switches vertraut machen und beschreibt, wie

Sie sie in Inrem Netzwerk einsetzen.

Netzkabel x2

J

Erdungskabel x1

(©)
(©)e)

Montagehalterung x2

=]
L J

M6-Kafigmutter x4
14

$5850-2452Q/S5850-2452Q-PE

Konsolenkabel x1

Gummipad x4

Federklemme x2

Netzwerk-Kabel x1

=

M4-Schraube x8

T

M6-Schraube x4



@ HINWEIS: Dieses Netzkabel kann nicht mit anderen Geraten verwendet werden,
und andere Netzkabel sollten nicht mit diesem Gerat verwendet werden.

Hardware-Ubersicht

Ports an der Vorderseite

B B e e

ETH USB
| Ports __ Beschreibung |
SFP+ SFP+ Ports fiir 1/10G-Transceiver
QSFP+ QSFP+-Ports flir 40G- oder 4x 10G-Verbindungen
CON Ein RJ45-Konsolenport fir die serielle Verwaltung
ETH Ein Ethernet-Management-Anschluss
USB Ein USB-Management-Port fiir Software- und

Konfigurationssicherung und Software-Upgrade

15

DE



LEDs auf der Vorderseite

ID SYS

ETH

DE

40G Breakout LED

LEDs @ Status Beschreibung

ID

SYS

ETH

SFP+

QSFP+

Breakout

Blau

Aus

Griin

Braun

Aus

Grin
Blinkend Griin
Aus

Griln
Blinkend Griin
Braun
Blinkend Braun
Aus

Grin
Blinkend Griin
Braun

Blinkt Braun
Aus

Blinkt in Schleife

Aus

ID-Anzeigefunktion aktiviert.

ID-Anzeigefunktion deaktiviert.

Das System ist normal in Betrieb.

Das System hat einen Alarm oder Fehler.

Kein Strom oder System lauft nicht.

Port ist verbunden.

Der Port empfangt oder sendet Pakete.

Port ist nicht verbunden.

10G-Port ist verbunden.

Der SFP+-Port sendet oder empfangt Pakete mit 10G.
1G-Port ist verbunden.

Der SFP+-Port sendet oder empfangt Pakete mit 1G.
Port ist nicht verbunden.

40G-Port ist verbunden.

Der QSFP+-Port sendet oder empfangt Pakete mit 40G.
Der Port befindet sich im Breakout-Modus.

Der Breakout-Port Gibertragt oder empfangt Pakete.
Port ist nicht verlinkt.

Ein oder mehrere 40G-Ports befinden sich im
Breakout-Modus.

Keiner der 40G-Ports befindet sich im Breakout-Modus.



Riickseite

Erdungspunkt
1

T

© ¢

e s )

T T
3 Feste Liifter 2 Hot-swap-féahige Stromversorgungen

Installationsanforderungen

Bevor Sie mit der Installation beginnen, vergewissern Sie sich, dass
Sie Folgendes zur Hand haben:

e Kreuzschlitzschraubendreher

® M6 Schrauben

e StandardgroBes, 19" breites Rack mit einer Mindesthohe von 1 HE

o RJ-45-Ethernet-Kabel der Kategorie 5e oder héher, Glasfaserkabel und Konsolenkabel
fiir den Anschluss von Netzwerkgeraten.

Betriebsumgebung:

® Betreiben Sie das Gerat nicht in einem Bereich, in dem die Umgebungstemperatur
45 °C Uberschreitet.

e Der Installationsort muss gut belliftet sein. Stellen Sie sicher, dass um den Switch
herum ein ausreichender Luftstrom vorhanden ist.

e Stellen Sie sicher, dass der Switch eben und stabil ist, um geféhrliche Bedingungen zu
vermeiden.

o Installieren Sie das Gerat nicht in einer staubigen Umgebung.

o Der Installationsort muss frei von austretendem oder tropfendem Wasser, starkem Tau
und Feuchtigkeit sein.

o Stellen Sie sicher, dass Rack und Arbeitsbiihnen gut geerdet sind.

17

DE



DE

Montage des Switch

Montage auf einem Tisch

4 N

\_ J

1. Befestigen Sie vier Gummipads an der Unterseite.
2. Stellen Sie das Gehé&use auf dem Tisch.

Rack-Montage

J

1. Befestigen Sie die Montagehalterungen mit den mitgelieferten M4-Schrauben an den
beiden Seiten des Switches.



2. Befestigen Sie den Switch mit vier M6-Schrauben und Kafigmuttern am Rack.

Erdung des Switch

-

1. SchlieBen Sie ein Ende des Erdungskabels an eine geeignete Erdung an, z. B. an das

Rack, in dem der Switch montiert ist.
2. Befestigen Sie die Erdungslasche mit den Unterlegscheiben und Schrauben am

Erdungspunkt an der Riickwand des Switches.

ii ACHTUNG: Der Erdungsanschluss darf erst dann entfernt werden, wenn alle
Versorgungsanschliisse getrennt wurden.

19

DE



DE

Anschluss der SFP+ Ports

0

AN

o

Installieren Sie zuerst SFP+-Transceiver und schlieBen Sie dann Glasfaserkabel an die
Transceiver-Ports an oder verbinden Sie DAC-Kabel direkt mit den SFP+-Slots.

if ACHTUNG: Laserstrahlen konnen Augenschaden verursachen. Schauen Sie

nicht ohne Augenschutz in Bohrungen von optischen Modulen oder
Lichtwellenleitern ohne Augenschutz.

Anschluss der QSFP+ Ports

DOOOOO000C @

A

.

Installieren Sie zuerst QSFP+-Transceiver und schlieBen Sie dann Glasfaserkabel an die
Transceiver-Ports an, oder schlieBen Sie DAC-Kabel an die QSFP+-Slots an.

20



Anschluss der Management-Ports

Anschluss des Konsolen-Ports

1. Stecken Sie den RJ45-Stecker des Konsolenkabels in den RJ45-Konsolenport an der

Vorderseite des Switches.
2. SchlieBen Sie das andere Ende des Konsolenkabels an den seriellen RS-232-Anschluss

des Computers an.

21

DE



DE

Anschluss des ETH-Ports
4

\_

1. SchlieBen Sie ein Ende eines standardméaBigen RJ45-Ethernet-Kabels an einen

Computer an.
2. SchlieBen Sie das andere Ende des Kabels an den ETH-Port an der Vorderseite des

Switches an.

Anschluss des USB-Ports

Stecken Sie die USB-Flashdisk (Universal Serial Bus) in den USB-Anschluss ein, um
Software und Konfiguration zu sichern und die Software offline zu aktualisieren.

22



AnschlieBen der Stromversorgung

v

1. Stecken Sie das Netzkabel in den Netzanschluss auf der Rickseite des Switches.

2. SchlieBen Sie das andere Ende des Netzkabels an eine Netzstromquelle an.

ii WARNUNG: Installieren Sie die Stromkabel nicht, wahrend der Strom
eingeschaltet ist.

23

DE



DE

Konfiguration des Switch

Konfiguration des Switches liber die webbasierte Schnittstelle

Schritt 1: SchlieBen Sie den Computer mit dem Netzwerkkabel an den Management-Port
des Switches an.

Schritt 2: Setzen Sie die IP-Adresse des Computers auf 192.168.1.x. ("x" ist eine beliebige
Zahl von 2 bis 254.).
Setzen Sie die Subnetzmaske des Computers auf 255.255.255.0.

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

—@® Use the ing IP address:
IP address: 192 .168 . 1 . 2
Subnet mask: 256 . 265 . 255 . 0O

QO Obtain DNS server address automatically
—@ Use the following DNS server

Preferred DNS server: l:l

Alternate DNS server:

[] validate settings upon exit
o)

Schritt 3: Offnen Sie einen Browser, geben Sie http://192.168.1.1 ein, und geben Sie den
Standardbenutzernamen und das Standardkennwort ein, admin/admin.
Schritt 4: Klicken Sie auf sign in, um die webbasierte Konfigurationsseite anzuzeigen.

24



Konfigurieren des Switches liber den Konsolen-Ports

Schritt 1: SchlieBen Sie einen Computer tber das mitgelieferte Konsolenkabel an den
Konsolen-Port des Switches an.

Schritt 2: Starten Sie die Terminalsimulationssoftware wie z. B. HyperTerminal auf dem
Computer.

Schritt 3: Stellen Sie die Parameter des HyperTerminals ein: 115200 Bits pro Sekunde, 8
Datenbits, keine Paritat, 1 Stoppbit und keine Flusskontrolle.

Quick Connect x

Protocol

Port: CcoM3 v Flow Control
[]DTR/DSR

Baud rate: 115200 v

[JRTs/CTS
Data i [Jxon/xoF
pariy
stopbis:

Name of pipe: ‘

[C]Show quick connect on startup Save session
Open in atab

Connect Cancel

Schritt 4: Geben Sie den Standard-Benutzernamen und das Standard-Passwort ein:
admin/admin.

25

DE



DE

Fehlerbehebung

Ladefehler

Wenn das Laden fehlschlagt, lauft das System in der urspriinglichen Version weiter. Zu
diesem Zeitpunkt sollten Benutzer zunéchst Gberprifen, ob die physikalischen Anschliisse
korrekt sind. Wenn einige Ports nicht angeschlossen sind, schlieBen Sie sie erneut an, um
sicherzustellen, dass die physikalischen Anschlisse korrekt sind, und beginnen Sie mit
dem erneuten Laden. Wenn die physischen Anschlisse korrekt sind, Gberprifen Sie die
Informationen zum Ladevorgang, die auf dem Superterminal angezeigt werden, um zu
Uberprifen, ob Eingabefehler vorliegen. Wenn Eingabefehler vorhanden sind, korrigieren
Sie diese und laden Sie erneut.

Benutzerkennwort verloren

Wenn das Systempasswort verloren oder vergessen wurde, kdnnen Sie das Passwort mit
der folgenden Methode zurlicksetzen:

1. Verbinden Sie den Konsolenanschluss des Switches uUber das Konsolenkabel mit dem
Computer.

2. Driicken Sie ctrl + b, um den Uboot-Modus aufzurufen.

3. Starten Sie das System mit einer leeren Konfigurationsdatei ohne Passwort.
Bootrom#boot_flash_nopass

Bootrom#Do you want to revert to the default config file?[Y|N|E]:

HINWEIS: Wenn Sie lhren Benutzernamen und Ihr Kennwort vergessen und sie

liber den Konsolenport wiederherstellen kann zu Konfigurationsverlust und
Betriebsunterbrechung fiihren. Bitte merken Sie sich deshalb Ihren
Benutzernamen und Kennwort.

Konfigurationsprobleme

1. Stellen Sie sicher, dass die Stromversorgung normal ist und das Konsolenkabel richtig
angeschlossen ist.

2. Prufen Sie, ob das Konsolenkabel der richtige Typ ist.

3. Priifen Sie, ob der Konsolenkabeltreiber richtig auf dem Computer installiert ist.

4. Stellen Sie sicher, dass die Parameter des HyperTerminals korrekt sind.

26



Produktgarantie

FS garantiert seinen Kunden, dass wir bei Schaden oder fehlerhaften Artikeln, die auf
unsere Verarbeitung zurtickzufiihren sind, eine kostenlose Riickgabe innerhalb von 30
Tagen nach Erhalt der Ware anbieten. Dies gilt nicht flir Sonderanfertigungen oder
mafBgeschneiderte Lésungen.

Garantie: Flr das Produkt gilt eine eingeschrankte Garantie von 5 Jahren auf
Material- und Verarbeitungsfehler. Weitere Einzelheiten Uber die Garantie
finden Sie hier:
https://www.fs.com/de/policies/warranty.html

Informationen zum Rickgabeverfahren hier:

@ Riickgabe: Wenn Sie den/die Artikel zuriickgeben méchten, finden Sie
https://www.fs.com/de/policies/day_return_policy.html

Online-Ressourcen

Weitere technische Dokumente finden Sie hier:
https://www.fs.com/de/technical_documents.html

Scannen Sie den QR-Code, um die FS App aus dem App Store oder
Google Play Store herunterzuladen und zu installieren, oder gehen
Sie auf

https://www.fs.com/de/appdownload.html

# Download on the [clagigel]
¢ App Store Google Play

27



FR

Introduction

Merci d'avoir choisi les Switchs de Routage L2/L.3 Gérés. Ce guide est congu pour vous
familiariser avec la disposition des commutateurs et décrit comment les déployer dans
votre réseau.

S5850-2452Q/S5850-24S2Q-PE

Cable d'Alimentation x 2 Cable de Console x 1 Céable Réseau x 1

U -

Céable de Mise a Terre x 1 Coussin en Caoutchouc x 4 Vis M4 x 8
o)
@)
12 o g
Support de Montage x2 Clip a Ressort x2 Vis M6 x4

=

Ecrou de Cage M6 x4
8



@ NOTE : Ce cordon d'alimentation ne peut pas étre utilisé avec d'autres appareils,
et les autres cordons d'alimentation ne doivent pas étre utilisés avec cet appareil.

Description du Matériel

Ports du Panneau Frontal

[ Pors Desoripton ]

SFP+ Ports SFP+ pour les modules 1/10G
QSFP+ Ports QSFP+ pour une connexion 40G ou 4x 10G
CON Un port de console RJ45 pour la gestion série
ETH Un port de gestion Ethernet

Un port de gestion USB pour la sauvegarde des logiciels et

USB ) ) B L )
configuration, et la mise & jour des logiciels hors ligne

29

FR



FR

Indicateurs LED du Panneau Frontal

IDSYS SFP+ QSFP+

b LU OUOU OO ODOL DL OO O OO LU0 X 35’,53532‘.{53&3‘:"’ =
6Fs
=
E'|I'H 40G Breakout LED
D Bleu Activation de la fonction d'indication de I'ID.
Eteint Désactivation de la fonction d'indication de I'ID.
Vert Le systeme fonctionne normalement.
Jaune Le systéme déclenche une alarme ou une erreur.
SYS .. Pas de courant, aucun systéme ne fonctionne, ou le
Eteint systeme présente une anomalie.
Vert Le port est relié.
ETH Vert Clignotant Le port regoit ou transmet des paquets.
Eteint Le port n'est pas relié.
Vert Le port 10G est relié.
Vert Clignotant Le port SFP+ transmet ou regoit des paquets a 10G.
SFP+ Jaune Le port 1G est relié.
Jaune Clignotant  Le port SFP+ transmet ou recgoit des paquets a 1G.
Eteint Le port n'est pas relié.
Vert Le port 40G est relié.

Vert Clignotant Le port QSFP+ transmet ou regoit des paquets a 40G.
QSFP+ Jaune Le port est en mode breakout.

Jaune Clignotant Le port breakout transmet ou recoit des paquets.

Eteint Le port n'est pas relié.

Clignotement en Un ou plusieurs ports 40G sont en mode breakout.
Breakout = Cercle

Eteint Aucun des ports 40G n'est en mode breakout.

30



Panneau Arriére

Point d'Ancrage
|

oon @ oo ©

g el

T , T N
3Ventilateurs Fixes 2 Alimentations Electriques Remplagables a Chaud

Exigences d'Installation

Avant de procéder a l'installation, assurez-vous que vous disposez
des éléments suivants:

Tournevis phillips.
Vis M6.
Rack standard de 19" de large avec une hauteur minimale de 1U disponible.

Cables Ethernet RJ-45 de catégorie 5e ou supérieure pour la connexion des appareils
du réseau.

Site de I'Installation :

Ne pas utiliser dans un environnement ou la température ambiante dépasse 45°C.

Le site d'installation doit étre bien ventilé. Assurez-vous qu'il y a un flux d'air suffisant
autour du commutateur.

Assurez-vous que le commutateur est a niveau et stable pour éviter tout risque.
Ne pas installer I'équipement dans un environnement poussiéreux.
Le site d'installation doit étre exempt de fuites d'eau et d'humidité.

Assurez-vous que le rack et les plates-formes de travail sont bien mis a la terre.

31

FR



FR

Installation du Commutateur

Montage sur Support

4 N

. /

1. Fixez quatre coussins en caoutchouc a la base.
2. Placez le chassis sur le support.

Montage en Rack

v

1.Fixez les supports de montage sur les deux c6tés du commutateur a I'aide de huit vis M4.

32



2. Fixez le commutateur au support a l'aide de quatre vis M6 et d'écrous a cage.

Mise a Terre du Commutateur

-

1. Connectez une extrémité du cable de mise a terre a une terre appropriée, telle que le

rack sur lequel le commutateur est installé.
2. Fixez la pince de mise a la terre au panneau arriéere du commutateur avec la rondelle

etvis.

ii ATTENTION : La mise a la terre ne doit pas étre retirée tant que toutes les
connexions d'alimentation n'ont pas été déconnectées.

33

FR



FR

Connexion des Ports SFP+

0

AN

o

Installez d'abord les modules SFP+, puis connectez le cablage en fibre optique aux ports
des modules, ou connectez directement les cables DAC aux emplacements SFP+.

if ATTENTION : Les rayons laser peuvent provoquer des |ésions oculaires. Ne pas
regarder dans les orifices des modules optiques ou des fibres optiques sans
protection oculaire.

Connexion des Ports QSFP+

/

/;‘DDDDDDDA

&

DOOOOO000C @

A

.

Installez d'abord les modules QSFP+, puis connectez le cablage en fibre optique aux ports
des modules, ou connectez les cables DAC aux emplacements QSFP+.
34



Connexion des Ports de Gestion

Connexion du Port de la Console

} =

1. Insérez le connecteur RJ45 du cable de la console dans le port RJ45 de la console situé
sur la face frontale du commutateur.
2. Connectez I'autre extrémité du cable de la console au port série RS-232 de l'ordinateur.

Connexion du Port ETH
4

N

1. Connectez une extrémité d'un cable Ethernet RJ45 standard a un ordinateur.
2. Connectez I'autre extrémité du cable au port ETH situé sur la face frontale du
commutateur.

35

FR



FR

Connexion du Port USB

Insérez le Flash USB (Universal Serial Bus) dans le port USB pour la sauvegarde de logiciel
et configuration, et la mise a jour de logiciel hors ligne.

Connexion du Courant

/

1. Branchez le céble d'alimentation CA dans le port d'alimentation situé a l'arriére du

commutateur.
2. Connectez l'autre extrémité du cable d'alimentation a une source de courant alternatif.

ii AVERTISSEMENT : Ne pas installer de cables électriques lorsque I'appareil est
sous tension.

36



Configuration du Commutateur

Configuration du Commutateur a I'Aide de I'Interface Web

Etape 1: Connectez I'ordinateur au port de Gestion du commutateur & l'aide du cable
réseau.

Etape 2 : Définissez I'adresse IP de I'ordinateur 4 192.168.1.x. ("x" est un nombre compris
entre 2 et 254.). Définissez le masque de sous-réseau de I'ordinateur a
255.255.255.0.

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

QO Obtain an IP address automatically
—@ Use the following IP address:

IP address: 192 .168. 1 . 2
Subnet mask: 255.255 .255. 0

O Obtain DNS server address automatically
—@ Use the following DNS server

Preferred DNS server: l:l

Alternate DNS server:

[ validate settings upon exit
S

Etape 3 : Ouvrez un navigateur, tapez http://192.168.1.1, et entrez le nom d'utilisateur et le
mot de passe par défaut, admin/admin.
Etape 4 : Cliquez sur le bouton "Connexion" pour afficher la page de configuration.

37

FR



FR

Configuration du Commutateur a I'Aide du Port de la Console

Etape 1: Connectez un ordinateur au port de console du commutateur a I'aide du cable de
console fourni.

Etape 2 : Démarrez le logiciel HyperTerminal.

Etape 3 : Définissez les paramétres de I'HyperTerminal : 115200 bits par seconde, 8 bits de
données, pas de parité, 1 bit d'arrét et pas de contréle de flux.

Quick Connect X

Port: COM3 v Flow Control
[C]DTR/DSR
Baud rate: 115200 v

[JRTs/CTS
Data bits: ] XON/XOFF

Name of pipe: ‘

[Jshow quick connect on startup Save session
Openinatab

Etape 4 : Entrez le nom d'utilisateur et le mot de passe par défaut, admin/admin.

38



Dépannage

Dépannage en Cas d'Echec du Chargement

Apres I'échec du chargement, le systéme continuera a fonctionner dans la version
standard. Les utilisateurs doivent maintenat vérifier si les connexions physiques au porst
sont correctes. Si certains ports ne sont pas connectés, reconnectez-les pour vous assurer
que les connexions physiques sont correctes, et commencez a recharger. Si les
connexions physiques sont correctes, vérifiez alors les informations relatives au processus
de chargement affichées sur le terminal pour vérifier s'il y a des erreurs de saisie. S'ily a
des erreurs de saisie, corrigez-les et rechargez-les.

Dépannage en Cas de Perte du Mot de Passe de I'Utilisateur

Si le mot de passe du systéme est perdu ou oublié, la méthode suivante peut étre utilisée
pour réinitialiser le mot de passe :

1. Connectez le port console du commutateur a 'ordinateur par le cable de la console.

2. Appuyez sur ctrl + b pour entrer dans le mode Uboot.

3. Démarrez le systeme avec un fichier de configuration vide sans mot de passe.
Bootrom#boot_flash_nopass

Bootrom#Do you want to revert to the default config file?[Y|N|E] :

@ NOTE : L'oubli de votre nom d'utilisateur et votre mot de passe, et leur restauration
via le port de console peut entrainer des pertes de configuration et une
interruption des activités. N'oubliez pas votre nom d'utilisateur et votre mot de
passe.

Dépannage du Systéme de Configuration

1. Assurez-vous que l'alimentation électrique soit normale et que le cable de la console est
correctement branché.

2. Vérifiez que le cable de la console soit du bon type.

3. Vérifiez si le pilote (driver) du cable de commande est correctement installé sur
I'ordinateur.

4. Assurez-vous que les parameétres de I'HyperTerminal sont corrects.

39

FR



FR

Garantie produit

FS garantit a ses clients un retour gratuit sous 30 jours a compter de la réception de leur
commande pour tout dommage ou défaut d a notre fabrication. Ceci exclut les articles sur
mesure et les solutions sur mesure.

&

Garantie : Les produits bénéficient d'une garantie limitée de 5 ans contre les
défauts de matériaux et de fabrication. Pour plus d'informations sur la garantie,
veuillez consulter le site

https://www.fs.com/fr/policies/warranty.html.

Retour : Si vous souhaitez retourner un ou plusieurs articles, consultez le site
https://www.fs.com/fr/policies/day_return_policy.html.

Ressource en ligne

40

Pour des documents techniques supplémentaires, visitez :
https://www.fs.com/fr/technical_documents.html

Scannez le code QR pour télécharger et installer I'application FS
depuis I'App Store ou le Google Play Store, ou rendez-vous sur
https://www.fs.com/fr/appdownload.html

2 Download on the [clagigel]
S App Store Google Play



1>ora4oo3>

RE—VRL2/BRAYFEZBRV VI ERICHONESTEVE T COAMRIF X1y F
DLATIMMIBN YT —TIC Ry F2EATBHEZHBETBHDHDTY,

FRI—Ex2

J

B —J)Lx1

lo

@)
= ©
DT 7S vbx2

E

M6 — ) kx4

a>Y=ILr=7)lx1

JL/Ny x4

ATV TO)y T2

LAN—2)Lx1

M4 X8

1 ]

M6 x4

41

JP



JP

E COTBBFRI— RIGMMOEBICIEERATETEFEA. Fioo MOBEI—RIEFZD
HERICERALAVTLES L,

N—ROIT7HE

ZAYRNRILR—k
CON SFP+ QSFP+
| L |
= \ [elec]s]c[ees00[eo o000 e 0000000000000 Il 0000000000000 ]UUUUUUUUUUILUUUU [o]
¥ o ULOOODOLOL LU L UDODODODOROULE
i Em
o 1
[
ETH USB
SFP+ 1/10GETa—/LASFP+R—k
QSFP+ 40G/4x 10GHEREFQSFP+AR—k
CON SUTIVEBBDRIASI VY —)LE—K
ETH A —HRyNEEBERR—H

VINIZTRREDNYIT VI ATZAVTDYITRITT

use Py — KT RUSBEIRH —

42



70> kNFRJLLED

ID SYS SFP+ QSFP+
leccececcoececeeeiececeeeeeeel ’”‘%3’,”,353[3&’} UUUUUUUUUUUUUUUUUWI =
m _ 6Fs
=
E1|'H 40GT LA U7 IRLED
LED | 3R#E
D a8 IDRTHERER
7 IDRTIEEERELN
iReE SRTFLISERICBELE T,
S TIN— SRTALICT =L I5—hRE LT,
4 ;E;‘JE#J\B@L\ FIFSRTLDEELAV FoIZBREBEY
re K= IENTVET,
ETH  iRB=H R=bDNT Y EREFITEELTVES
7 R=bHUTTNTVEE A
e 10GR—bAUVTEINTVET,
FREB R SFP+R—ME 10GTNTw b EEZELTVET,
SFP+  7YN— 1GR—FHUYTEINTUVET,
TYN—miR  SFP+R—MEIGTNT b EEZELTVED,
7 K= TTNTVER A
re 40GR—HUVIThTUWET,
RS QSFP+R—KMFAGTNTY M EEZELTUVET,
QSFP+ 7y )\— K= ITL =TI E—RIZBEO>TVET,
TON—RF  TLAITINR—bDN Ty b EEZELTVED,
7 A=W TINTVER Ao
JL1  IW—T=RE 12U EDA0GR—bHNTL =7 TR E—RIZEOTVWET,
979N AT 40GR—MIVWTNETL—IT7IRE—RTIEHDEL A

43



JP

Ny INR=xIL

it
|

:

B

®
22DFY R RTYTHISER
1A=L EH
AVAR=ILZTBHIC. FTERDEERICHESRLTIIESL,
o TISARTAN—,
o M6xY,
o ZEHAIDIVVFIRDS YU T IUML EDOEIHFIBEAEE,
o FYRT—OFNAREEET BIHdDAT U5 EDRIASA —FFy ko —TL,
HA1MNRIE:
o AEREN4SCEBR BB TIHEALENTIE S,
o BEBFIZHHIRELTHE SV Ay FORRICHI BEROFND D5 L&
BLT S,
o FEBRBREERIT BT A YFHKFTREL TS L ERBL TS,
o BOBLBEICFRELAVNTIEI,
o BEEFIE RN AE BBESOBVERICREL TS,
o SYSLIEETSYRTA—LOHHICF—RINTNBC L ERBL TS,

44




A1y FOEDfFIF

FRIRIVE

4 N

.

1L EIZADDSN—/y REED G E£T,
2. 21y FEHND EICEEEY,

ZYIIIE

LEOMIFTS7y bz FORAEIC B ODOMAR I TEEL XY,

45

JP



JP

2.42DM6R T —IFy b AL T R F eIy Il AT EY,

Ay F DI
4

1. 8T —TILD—H Dk Ay FHED TSN T VS 5y U 7R E DB R 7 —XICHEHT
LET,
2. DY e DEERLTCHEMI IR FONY INRILOBSICEE L E Y,

AR INTOBREHODIMI TN TOWERVRD, 7—EHZIROA T BVTEE
LY

46



SFP+R— DT

.

FISFPAAETa—INERDHF EDa—ILR—MIXT7ANT =TI 2ER T DD H B
I$SFP+R O MIDACT — IV zE#EER L £ T,

AE AR LY RIBBICREZS AP TRMN B DX BEREL TICHED 2
—ILRHTFANDIREDEECERNTIIEE L,

QSFP+R— hD#E#t

\_

FYTQSFPAAETDa—NZEDMA EDa—ILR—MIXT7ANT TN 2T DD\ HD
WEQSFP+2 Oy MIDACT — VL 2 BHEER L £ 9,

47

JP



JP

EIRR— b OEST

a2 —=ILR— D

1. RJASOAR TR %E Ry FRIEDRIAS Y —)LR—MMIZELIAHE T,
2. A= =TIDHS5—ADM%E. A2 Ea—2DRS-232 ) 7ILR—MIEHRLET,

ETHR— Dk
4

\

1. BENARIASA — U Ry M —DILO—tiZE A1 —RITEELE T,
2. 7=NDH5—FH D% X1y FRIEDETHR—MIERLET,

48



USB/R— b

USBZw>aT1RUZUSBR—MIBALVINITTRREDNYITY I A TZATDY
ThITTTYTIL—RETSENTEET,

BIROER

LACERI—RZRMyFERDERR—MIELAAFT,
2. BRI—RDOHS—HDinzACERICERLET.

i PEEANEEE TR —TLEBRDRHANTTE T,

49

JP



JP

21V FDIERK

WebAR—XA A TxARZFER LIy FDIERK

ATV Ry RT—= 07— ERL T AV Ea—R RV FOBEER— &L ET,
27y 72 AVEa—B2DIPTRLZ%Z192.168.1LXICREL £, (113205254 F TOER
DYEFTY)o AVE1—F—DY TRy TR %255.255.255.01ICRELF T,

Internet Protocol Version 4 (TCP/IPv4) Properties
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically
—@® Use the IP address:

IP address: 192 .168. 1 . 2
Subnet mask: 255 .255 .255. 0

O Obtain DNS server address automatically
—@ Use the following DNS server

Preferred DNS server:

Alternate DNS server:

L. - ]
L. ]

[ validate settings upon exit
=

27w T3: TSI ERE http://192.168. 1.1 AL T 7 EDI—F—FZ E/INRT—RT
HBadminfadminzZ A LET,
27w 74 Tsignini &)y LT WebR—XDIEER—JERRTLET,

50



AV —=IR—bZER LRy F OB

27y 71 B0V == EFERLTCIYE2a—2% X1y FDAY —ILR—MC
HRLET,

27w 72 )XY D> THyperTerminal& X DR > TaL—> 3>V I 2 E L £ 9,

2773 Hyperlerminal D/NZX—RZ U T DK SICHE L £9,115200E Y M 7—2E
v b (Data bits)Z8. /N7 (Parity) &% L(None). X kv FEw k(Stop bits)Z1. 700
—HfE (flow control) 7% L(No) T,

Quick Connect X

Port: Com3 v Flow Control
[]DTR/DSR
Baud rate: 115200 v

[JRTs/CTS
Data bits: ] XON/XOFF

Name of pipe: ‘

[[]Show quick connect on startup Save session
Openinatab

2TVT4 FIAIN D A== L NRT—RTHBDadmin/adminz AHLFET,

51

JP



JP

SIS a—Ta27

HARAABRBDNZ TN a—T42T

FAPARKBLIRIF TTDN =23 THELEIT B EICRD E T SO L E K ITYIEN
BR—FOBEFEDNRFTHEINESHEBRIRL T T V. —EOR— M ERIhTLRL
BEIIENGERNELVW C 2RI 37HICBER L. BRial s zRmLE.158
H7BEHRNELWESIF Z—/N—2—IFILICRR SN B35 A AUIBEREER L AN
2B BV e L E T ANI RN B ZHAIFEELTEO—RLTLEE L,

A—H—NRT— FREBED ST a—Fa2s

SRTLINZT—REHRLIEDENIED LISBE IERDBETNZAT—ReBREITIL
HTEET,

1L Ry FOAY—=)LR—rEaY =)L —JIL TNV INESR LE T,

2. ctrl + bZ#LT.UbootE—RICADE T,

3NRAT=ROBVWEDFRET7AILT O RTLZEELET,
Bootrom#boot_lash_nopass

Bootrom#F AL DEE T 71 ILICRLESH 2 [Y|N|E]:

@ E A —RENRT—REENTIVY—ILR— SR 3 L RED KD,
EBICKBESLIHBEDHBDE I - —RENRT—REIENBVESICLTL
&0

B ZTLONS TN a—T10

1L EBRMNEETHZ . AVY—=ILTr—TIHIELIERIN TR L ERZE LTS,
2. AV =T —=TIUDELWRL THESHIEERLTEE L,

3. IbA—IWT=TILORFAN=HDIAVE2—F—ICIEELLA Y RAR=ILETNTVR D ESH
RSB L TIET LY,

4. HyperTerminal D/NSX—ZHE LW EZRERLTEE L,

52



HmfRaE

FSIZARZLEBRIENARZLY ) a— a2y z2lRE HHOBRICEZRMmOBIEPT R M
NHo1ima EERDERERITIoTcBH 530 URICERN TRAE TS L ZRIELF
Jo

T RAEDFHICDWVWTIE, TEEDURLZZERRLE T,
https://www.fs.com/jp/policies/warranty.html

BRIRGZEHRLESNDIHE HEICDVWTETFEROURLZZERIZEL,
https://www.fs.com/jp/policies/day_return_policy.html

FZ42))—X

fREE: COBmIG I KT IFELE EDRIEICH L TSFRDRERIEZIRMHL &

ZOMOEMERNCDOVWTIE FEROURLEZBREE L,
https://www.fs.com/jp/technical_documents.html

QRI—F%EFHAED.App Store£7zIdGoogle PlayX b 7D SFST7 /1
ZHAUYO—RLTA VA=l TEE T B LI TRDOURLICTZERX
LTLIEELN,

https://www.fs.com/jp/appdownload.html

#  Dow d on the GETITON
« App Store Google Play

53

JP









(Q.C.PASSED )
Copyright © 2025 FS.COM All Rights Reserved.



